
Calcul avec les dizaines 
1	

Prénom : 	
Date : 	

Calcul	

 Calcule ²en ²groupant ²le$ ²dizaine$ : 

6 + 4 + 5 = …… 
 

  10        15 
 

        15 

5 + 3 + 5 = …… 
 

……      …… 
 

       …… 

4 + 8 + 2 = …… 
 

……      …… 
 

       …… 

8 + 2 + 7 + 3 = …… 
 

  10        10 
 

        20 

5 + 5 + 6 + 4 = …… 
 

……      …… 
 

       …… 
 

9 + 1 + 3 + 7 = …… 
 

……      …… 
 

       …… 
 

5 + 6 + 5 + 4 = …… 
 

……      …… 
 

       …… 
 

8 + 4 + 6 + 2 = …… 
 

……      …… 
 

       …… 
 

7 + 5 + 3 + 5 = …… 
 

……      …… 
 

       …… 
 

9 + 4 + 2 + 1 = …… 
 

……      …… 
 

       …… 
 

5 + 3 + 5 + 2 = …… 
 

……      …… 
 

       …… 
 

6 + 4 + 3 + 3 = …… 
 

……      …… 
 

       …… 
 



Calcul avec les dizaines 
2	

Prénom : 	
Date : 	

Calcul	

 1. Calcule ²en ²groupant ²par ²dizaine$ ²à ²l’²aide ²d’²un ²arbre ²à ²calcul : 

5 + 5 + 7 + 3 = …… 
 

  10        10 
 

        20 

1 + 9 + 6 + 4 = …… 
 

……      …… 
 

       …… 
 

7 + 8 + 3 + 2 = …… 
 

……      …… 
 

       …… 
 

5 + 6 + 5 + 4 = …… 
 

……      …… 
 

       …… 
 

8 + 4 + 1 + 2 = …… 
 

……      …… 
 

       …… 
 

10 + 3 + 7 = …… 
 

……      …… 
 

       …… 
 

6 + 7 + 4 = …… 
 

……      …… 
 

       …… 
 

5 + 3 + 7 = …… 
 

……      …… 
 

       …… 
 

9 + 8 + 1 = …… 
 

……      …… 
 

       …… 
 

 2. Calcule ²en ²groupant ²par ²dizaine$ : 
 
5 + 6 + 5 + 4 = …… 
 
2 + 6 + 4 = …… 
 
1 + 7 + 9 + 1 = …… 
 

3 + 6 + 5 + 4 = …… 
 
2 + 6 + 4 = …… 
 
1 + 7 + 9 + 1 = …… 


